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: 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B - ~ — — —
zhnLs 1.00| 000 ~ 4.76 5932 | ZhLis | 000 ~ 476 | 1.77 9.46 Thns 1.00] 5.00 ~ 5.00 5932 | Zh s | 500 ~ 500 | 1.77 9.46
’ 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ - — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zzh st 1.00 | 000 ~ 533 6647 | Zh s | 000 ~ 533 2.19 11.71 Fhst 100 | 500 ~ 820 6647 | Zhiis | 500 ~ 820 | 2.19 11.71
5 100kN/M#E#B % % — -~ — —|3m%EEZD -~ — — —| 100kN/M%#B %% — -~ — —|3m%EHBZ3 -~ — — —
ZhLst 1.00 | 000 ~ 544 6785 | Zh st | 000 ~ 544 2.10 11.21 Fhst 100 | 500 ~ 750 6785 | £hkist | 500 ~ 750 | 2.10 11.21
4 100kN/M#ZEH#B % % - -~ - —|3m%E#ZD -~ - - —| 100kN/MZE# B %% — -~ - —|3m%EHBZ 3 -~ - — —
Zh st 1.00 | 000 ~ 258 3398 [ #hust | 000 ~ 258 259 13.85 Fhst 100 | 500 ~ 6.40 33.98 | #hiist | 500 ~ 6.40| 259 13.85
5 100kN/mM#Z#B % % — -~ - —|3m&HEZD -~ — - —| 100kN/mM%Z#B %% — -~ - —|3m%EEB X3 - ~ - — —
Zh st 1.00 | 000 ~ 450 56.08 | s | 000 ~ 450 2.16 1154 Thst 100 | 500 ~ 6.30 56.08 | #h kst | 500 ~ 6.30 | 2.16 1154
6 100kN/M#EH#BZ % — -~ - —|3m%E RS -~ — - —| 100kN/M%Z#B %% — -~ - —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 436 5447 | Zhist | 000 ~ 436 2.12 11.33 Zhst 100 | 500 ~ 580 5447 | #hist | 500 ~ 580 | 2.12 11.33
; 100kN/mM#E#B %% - -~ - —|3m&#EZD -~ - - —| 100kN/mMZ#B %% — -~ - —|3m%EHEBZ 3 -~ - — —
Zzh st 1.00| 000 ~ 201 2783 | #hst | 000 ~ 201 | 2.64 1415 Fhst 100 | 500 ~ 550 2783 | #hist | 500 ~ 550 | 2.64 14.15
g 100kN/M%EH#B % % — -~ — —|3m%EHEZD -~ — — —| 100kN/M%Z#B %% — -~ — —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 286 3702 [ #hst | 000 ~ 286 240 12.85 Fhst 100 | 500 ~ 530 3702 | #hiist | 500 ~ 530 | 240 12.85
9 100kN/M#ZEH#B % % - -~ - —|3m%E#ZD -~ - - —| 100kN/MZ#B %% — -~ - —|3m%EHEBZ3 -~ - — —
Zhst 100 | 000 ~ 281 3651 [ #hiist | 000 ~ 281 237 12.70 Fhst 100 | 500 ~ 500 3651 | #hst | 500 ~ 500 | 237 12.70
10 100kN/mM#Z#BZ % — -~ - —|3m%EBZ D -~ — - —| 100kN/mM%Z#BZ % — -~ — —|3m&#ER5 -~ — — —
zhns 1.00 ] 000 ~ 404 50.65 | Zh st | 000 ~ 4.04 | 2.06 11.04 zhnst 1.00] 5.00 ~ 5.00 50.65 | Zhist | 500 ~ 5.00| 2.06 11.04
» 100kN/mM#%#B % % — - ~ — —|3m%EFHBZAD -~ — — —| 100kN/m#%#EZ % — -~ — —|3mZx#EZB -~ — — —
zh st 1.00 | 000 ~ 405 50.78 | ¥h st | 000 ~ 405( 2.10 11.22 zhns 1.00] 5.00 ~ 5.20 50.78 | hlst | 500 ~ 520 2.10 11.22
12 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#BZ B - ~ — — —
zhnLs 1.00| 000 ~ 421 5263 | Ths | 000 ~ 421 212 11.37 zhns 1.00] 5.00 ~ 5.60 5263 | hst | 500 ~ 560 2.12 11.37
13 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ - — —| 100kN/m#%#EZ % - -~ - —|3mz#EZ B -~ — — —
zhns 1.00 | 000 ~ 5098 7492 [ ZhLis | 000 ~ 598 | 1.86 9.94 zns 1.00] 5.00 ~ 7.00 7492 | Zhiis | 500 ~ 7.00( 1.86 9.94
14 100kN/mM#%#B % % — - ~ — —|3mZEFHBZD -~ — — —| 100kN/m#%#E % % — -~ — —|3mZE#ZD — ~ — — —
zh st 1.00| 000 ~ 216 2947 | Zh4st | 000 ~ 216 | 254 13.60 zhns 1.00] 5.00 ~ 5.00 2947 | Fh4t | 500 ~ 5.00 | 254 13.60
15 100kN/mM#%#E % % — -~ — —|3mEFEBZR5 -~ - - —| 100kN/m#%#EZ % - -~ - —|3mz#Z B -~ - - -
Zzhn st 1.00] 000 ~ 1.07 16.81 | THlls | 000 ~ 1.07| 297 15.90 zhn st 1.00] 500 ~ 5.20 16.81 | =hLlst | 500 ~ 520 2.97 15.90
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16 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B - ~ — — —
zhnLs 1.00| 000 ~ 1.05 1740 | =hllst | 000 ~ 1.05| 2.92 15.65 Thns 1.00] 5.00 ~ 5.00 1740 | =hList | 500 ~ 5.00 | 292 15.65
100kN/mM#%#EZ % ~ 3mEHZ5 ~ 100kN/mM#%#EZ % ~ ImEHZD ~
Zzh st ~ Zzhst ~ Zzh st ~ Zhst ~
100kN/M#E#B % % ~ 3mEHERD ~ 100kN/mM%E#B %% ~ ImERBZ D ~
ZhLst ~ ZhList ~ Zh st ~ Zh st ~
100kN/M#ZEH#B % % ~ 3mZHERD ~ 100kN/mM#ZE#B %% ~ IMERBZ D ~
Zh st ~ Zhst ~ Zh st ~ Zhst ~
100kN/mM#Z#B % % ~ 3mEHRD ~ 100kN/mM%E#B %% ~ IMERBZ D ~
Zh st ~ Zh st ~ Zh st ~ Zhist ~
100kN/M#EH#BZ % ~ 3mEHERD ~ 100kN/M%EH#B %% ~ ImEIBZ D ~
Zh st ~ Zh st ~ Zh st ~ Zhst ~
100kN/mM#E#B %% ~ 3mEHERD ~ 100kN/mM%EH#B %% ~ IMERBZ D ~
Zzh st ~ Zzhst ~ Zzh st ~ Zhst ~
100kN/M%EH#B % % ~ 3mEHERD ~ 100kN/mM%E#B % % ~ IMERBZ D ~
Zh st ~ Zhist ~ Zh st ~ Zhst ~
100kN/M#ZEH#B % % ~ 3mZHERD ~ 100kN/mM#ZE#B %% ~ IMERBZ D ~
Zhst ~ Zhst ~ Zh st ~ Thst ~
100kN/mM#Z#BZ % ~ 3mEHZ 5 ~ 100kN/mM%#B %% ~ ImEBZ D ~
Zzhst ~ Zzhs ~ zhst ~ zhst ~
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zh st ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zhst ~ zhs ~ Ths ~ Thst ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
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